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I Continuation of analysis of invalidation of nTay performed by &
a  ~27 only applies to T'm 127p, but 1max 127p is accepted
i proof: viay'p from nrmv:
1 if: nrmo, which is never 1mn (even) to a 9T 103 for a TN 12p, yet is 1mn (even) to a VT N3 for MNax 127
2 then certainly: 1R, which is permitted to a 3”3 for Tm 127p, is permitted to VY7 113 for Max 127p
b challenge: series of arguments (reductio ad absurdum) using 1'p like the one used by x19
i proving: 3”3 should be forbidden from offering 7n 127p while an 1R, v"p from nxrmL
ii  and: » should be permitted to offer 7m’ 129p even though ®nv, vp from mrir
iii and: v 103 should be forbidden from offering nxrnvVA MN1X 127p, 1P from MPIR
iv  rather: since all of these arguments contradict each other, we leave each na%n as is (w/o using 1"p — including &27’s)
I Analysis of third item on list — By 920 (if 103 is waiting for wnw 17y, any nmay performed by him is %109)
a  source: v. 1 —unneeded for Xnv 50 (we got from 11n-v. 2), apply to oy 9120
i challenge: why not apply it to nmIp np (a 112 who cut a bald spot) or 1pt nka nnwn (one who cut his beard)
1 answer: we already use this pa to infer »12v% N n 2N via 919'N:9%N from nMn = it refers to oy N1av
(a) therefore: only a stigma which keeps the jn3 from eating nmAn (e.g. *av) invalidates nTay
(b) but: a stigma which doesn’t keep the 102 from eating nmyIn (e.g. "MIp Np) does not invalidate nmay
b /737 justifies "n’s invalidation of »"1v ,8nNY and D193 TOINN
i if: only stated Xnv, wouldn’t have educed others, as Xnv has power to be xnvn others
ii  if only listed »1v (would’ve inferred ®nv, but) wouldn’t have inferred 0’1193 901NR; 712V is banned from nMIN
iii if: only listed 1193 90N, wouldn’t have inferred »2v/8nY, as a 0’1193 70NN has an action to fulfill ("wyn 70INN)
iv  suggestion: we could’ve learned a third from two
1 question: which one could’ve been omitted?
2 if w93 7oInn were omitted, couldn’t infer others, as they are banned from nnn
3 rather: " 2av could’ve been omitted — and we can’t point to distinction that »1v is nwyn 701NN
(a) reason: they are “weaker” than »1v (see »*w1 and his non, and 9™ "o1n)
4 defense: n21 holds that D119 90NN has same status as he had before; e.g. ar=217 01193 701NN
(a) therefore: 1193 70NN is more severe and can’t be inferred from »"1vY XNV
5  suggestion: the notion of a 1193 70NN having same status as that nkmv (before n%av) is a DRIn 'nn:
(a) p'n:if the na was burnt by an 11 or o193 701NN — valid
(b) 932an qov: R is valid; 0193 70NN is invalid
(i) rejection: all agree that ar::ar7 D193 0NN
(if) dispute: interpretation and application of v. 3: 90V MM = was &NY before (i.e. ”2v)
1. p’m. refers to any sort of nrnY
2. 252371 9oy refers to the type of nkmV in this N9 (NN NRMIY) — not D19 TOINN
a. therefore: 1R and »"12v of y7v, which is less severe (in all ways) than 20 of nn Xnv — we
can infer via1p;
b.  but: 93 90mMn of a ar- who has 1910 nR¥Y NRMY — can’t be inferred
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